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— 910 byw 2% N3Py T 2 TR
Pull this animal and acquire the utensils that are on it, etc.

OVERVIEW

T1y9R " posed a query. What is the ruling if a seller said to a buyer, ‘pull this
animal and acquire the utensils that are upon it’? Is the pulling of the animal
a sufficient 72°wn to acquire the 2°23 or not? MoOIN explains why the query
was posed by a 72 and 0°%5 and not by a container and 2°72. In this Mo,
various laws of 112°wn and %71 7°1p will be discussed.

— 1Y Noyan

T1Y9K " posed this query whether 19vw o°%3 *3p 7t mama Twn is effective -
— 0990 NP> NY 10993 NIYW RY N8N NINAY 11NN NIPWNT 11D
Since the 72°w» of an animal, which walks on its own, is not applicable
by utensils, therefore there is the possibility that he will not acquire the

utensils by performing a 72°wn on the 72 -
— P17 NYY RVIVYD NNV DD P NP TIVMN N ONX YaN

However if the mpn said, ‘pull this container and acquire the 299>
therein’, it is obvious to X" that we will acquire the 7310w 0°92.

nvoIn asks:
— 2’)5‘\‘,7‘1 (BW) 2,79 97 8IMa Xa2) N1I29DN NN 9991917 NN*9219 VIVIN 99NRN ON)

" The 7>°wn of 293 is done completely by the ‘puller’. However, by an animal, the 7w merely leads the
animal; he does not drag it as he drags the 0*%>.

* The X3 there cited this Xn™72 in reference to a query there, whether the containers of the buyer can
acquire (the bought items, for the buyer) if they are on the property of the seller. [Do we concentrate on the
container (and it would acquire [X77 171], since the container belongs to the buyer), or do we concentrate
on the property (which is the seller’s, and the container will not acquire for the buyer).

The X012 reads as follows: 1771w pOD KW T¥ 771 121 77 KW 7V POD 172 10°2 TIND 10°10M PO AR T
NI P I POD XYW T T 172 NIAD PRI IR TR 772 XDW TV POD 12 INY 10°10M P70 .32 nh P
172. [He pulled the donkey drivers and workers into his (the buyer’s) house, whether they set the price and
did not yet measure (the goods) or whether they measured and did not yet set the price, they can both
retract. [However if] he unloaded (the goods) and brought them into his (the buyer’s) house, if he set the
price (even if it is) before they measured, neither can retract; if they measured but did not fix the price, both
can retract). This concludes the Xn»92.

The X3 assumed that the items bought (in this Xn™M2) were still in the containers of the seller.
Nevertheless the rule is that if he brought the goods into his house and set them on his property, the buyer
acquires them (if it was jpod; the price was fixed [there can never be a sale if the price is not fixed]),
indicating that we concentrate on the property (which belongs to the buyer) and not on the container (which
belongs to the seller). Similarly if it is 1917 mMw12 nP2 2w 193, he will not be Anp.

The X723 there initially refuted this proof, saying that when the Xn»92 said he ‘unloaded’, it means he took
them out of the [seller’s] containers and placed it on the property of the buyer. The X3 (after rejecting this
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And if you will say; let us resolve this query from a X092 in DX 927 P79

m920:7, which states -
— TNY PHIFY DAY I TINY PHIDY PN TYN

If he pulled the donkey drivers’ and the workers into his house, both

(the prospective buyer and seller) can retract from the sale -
— *nnnan naswna mare 9 XY NN

It is evident that he does not acquire the fruits by pulling the animal.
This should resolve the query of X"A.

N1B0IN answers:
— 937 NY 729 539 %Y 9N XY DNNT UMY YU

And one can say; that there the seller did not tell the buyer, ‘acquire the
items through 715°wn (of the 772)”°, therefore he is not 731p.

[moo1n offers an alternate solution:
— [6‘11):1'\11 NN TYUN R PINNN TUNYI 0NN I/N]

Or you may also say; there he only pulled the donkey drivers, and he did

not pull the donkeys; the donkey drivers pulled the donkeys therefore he is not 711,
however here we are discussing where the 71 pulled the animal.]’

MooIN anticipates a question:
— 10 PO PP NINPT XM

And that which the Xn>72 states; ‘whether they fixed the price, etc. and did
not measure or whether they measured and did not fix the price, (in either case) they can

interpretation) finally said the Xn>>92 is discussing strings of garlic which are not in any *25 and therefore if
it is placed in the property of the 17 he acquires it X1 ayvn.

Our NN is attempting to prove from the Xw that 2°%5 *1p1 772 7wy is not ANp.

> We assume this to mean that the donkey drivers in turn pulled the donkeys, and the wares which were
upon them, into the house. See (however) footnote # 6.

* He is not 7mp even if it was pop as the Xn™2 clearly states. There is no question that 72°wn of the item
directly is n1p even if it is 131 Hw 1932. The issue in the Xn>*2 is only concerning 2% 1°3p.

> The seller intended that the buyer acquire it (only) with a direct 71p of the M. The only way possible
that one should be anp the 095 through 727 n>*wn (which belongs to the seller [or 793P n3°wn)), is only
if the seller states clearly 7°%yw 275 *3p3 [0 W] nma Twn.

® This was inserted by the "wann based on mooIn there in qwn 7"7 2"2. See »"'mi that (in any event) this
inserted answer should precede the previous answer (3p 2 R X27) for in the continuation of m»oIn
(specifically 21 yon% 7% 127) our MooIn is referring to the answer of *1p 1% 7K X27 and not to NX Twn X
. See footnote # 8.

" In summation: a 73°wn in the TIP3 727 is always anp (Gf it is done in the presence of the 121). By n>wn
1917 he is 1212w 7 AP if the owner states 7121N2W 77 "1 79 TWwn. The query of X" is in a case of Twn
0°%3 *3p1 mana. If however the m1pn did not say 0°%3 °1p1 (791p) 1n2 Twn, then he is not 71 by 71927 n>wn
(Ammam). According to the 1"X even if he is 713p by 121 772 7w that is only if the 73°wn is made directly on
the 172, but not if the 1727 N3°wn is done indirectly.
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both retract’. This would indicate that if the price was fixed and they measured the items
sold, then they cannot detract. However according to m»oin that the Xn>*12 is discussing a
case where the 7121 did not say 12, he should not be 1P even if it was 7711 p05.

mooIn responds; this is correct -
— NY 199192 T3 PO 1DPAN PN NN

The same rule applies even if it was 7721 pep; they can both retract since
there is no effective 12w (for the seller did not say °1p) and there is no %1 7°3p (since he

did not unload the animals and place the items in his %) -
— PO NDVY 1Y 7711 1921 T XDV Ty P09 P2 Y91 NOYDT 0IVWN NN

But the reason the Xn>92 states 121 772 KXW 7V pod is because in the X0
(where he is 17?), it is necessary to distinguish whether he was 7y pop

77 K92 (where he is 7% avon 7117) and oD R9W T¥ 771 (where he is not 1p
I¥M oyvn since there was no 27 Np°0d), therefore -

— NIWIY NN RYII2 M) VD)
He mentioned also in the X2° the same expression of 151 77 X7w 7y poo.

Mmoo supports his answer that the Xn»92 is discussing where the 7% did not say °1p
mwna:

— 112 PINY 193919 1799 NPT XD NINY T8 1)
And we must also similarly interpret the 8950 (that the 721 did not say °1p
8.‘:3’:2/733), where the Xn>72 states, ‘he unloaded the wares from the donkeys

and brought them into his house, the rule is, if -
— 91TNY 199199 PR 1193 NIV 1Y PO

The price was fixed, (even) before it was measured; they cannot retract.
— 0P APNNY 991N 2P R NPIY MY 999 YV D57 DNN NI VLWONIY sYI)

And the X713 attempted to derive from this ruling that the containers of
the seller in the property of the buyer cannot retain the items for the

seller (even though they are in his containers), for the sale is effective, since
itis np12 mwna -

— YN TSN HLANN YDON NNPUN
It is evident from this Xn»72 that the container is nullified to the

property; we concentrate on whose property it is in; not in whose container it is in.
This concludes the proof (there) that 151 mwn2a anp 5w 122 is not Ap.
— 991 HY 19993 NINY 295 N3P NN TNIWN DYLN YPYN

¥ See footnote # 6.

? There was a 12°wn (albeit 197 Y@ 132) when he brought it into his house.

' If the buyer acquired the items through 72°w», how can we derive anything concerning whether the 2°95
are Hv2 to the MwA; the reason he is 7117 is because of the 72wn.
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It is apparent that he does not acquire the items on account of 72w,

since it is in the containers of the seller -
— M5199m4 5590192 IN 991 YWY 15991 199WY 1Y P BN 2IYN >3

And similarly when the X773 there answers and establishes the Xn*72 in a
case where he poured out the items from the containers of the seller, or

we are discussing strings of garlic (which are not found in containers) -
— P3P 157 NY 1911 YW 1993 1150 ONY YUn

It is also evident that if the items were in the containers of the seller, the

buyer would not acquire them -
— 19U 1NTINA PNY 192NV 29 YY N

Even though he brought them into his house, which is a 772°2»; and the
question is -
— 2P NNV DY %P N NP TIVUNI )9 RVIWD NI ININ)

And why is he not 71p, for it is obvious to us that if the seller said ‘pull

this container and acquire the utensils inside’ that he is 7312, so why should
he not be 71 there in the Xn>12, since he made a proper 72°wn?!
— P53m 1159 9K YT DIVN UMY YO BN NN

But rather we will be required to say, that he is not 7137 in the Xn»M2

because the seller did not say to the buyer, ‘acquire it with 7>°wn of my o°%5’ -
— P18y 7959 N5°UNA RIN NI1PIY N 19N

for he does not want the buyer to acquire it unless he pulls the actual
nyve.

mooin offers an alternate solution why he does not acquire the n17°5 through 7>°wn:
— N9YNN NN 1Y PO XOY 19D ¥1YN DNNT 9195190 19981 MY

And in addition we can say that there it seems to the X723 that in the

Xn>12 there was no 219 until after the 72w -
— ¥nosuna NP RY 799

And therefore he is not ;7272 through 7o%wn.

nvoIn asks:

" The xm) refuted and said there is no proof from the Xn»93 regarding 127 MW AP Sw 192 (or vice
versa), since in this Xn>2 there were no 121 2w 1°25 when the n1? placed it in his property.

2 See “Thinking it over’ # 1.

" Or through =%n 13p; but not through a 72°w» of something which does not belong to the 1.

' According to this answer there can be no issue of 72°w» in that X032 for the 7’09 took place after the
12>wn. There can be no 737 until after the o7 np°od. Therefore the only 7°37 applicable there is xn 1Ip.
This answers all of N1901n questions, including the initial question, for also in the X" the 72°05 took place
after the 112°wn. According to this answer it is irrelevant whether the 7121 said *31 Twn.
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— 93P VP XYY T NN TIVUN VPI INNBN 9NN ON)
And if you will say; why did X"2 use the term ‘pull this animal, etc.” and

did not use the term ‘acquire® this animal, etc.” -
— e NODY 99 Y N Easn DY 2PT MY NDIWS %P1 DIV IN

Is it because if the owner would say "1p, it is obvious to X"7 that the buyer
acquires it because of the rule of 231, even though the 772 is walking -

— 7199 RPN INNN M) TIVYNI 13 ON
If this is indeed so, then also by pulling why is there a doubt by x"~ whether

the buyer is 71p, for -
— 480 oyvn P PIPN INRYD 1Y IV NN IDIND NOD 99D 19 NIINWNY )1%D

Since the owner lent the buyer this cow (for the purpose of 713°wn), it is
considered as if the animal belongs to the buyer until after the y1p (of
72°wn), so he should acquire the 7°%vw 0°%5 on account of 22 11p!

N1B0IN answers:
— 8N DYVN BN MIPY NPNAN 1Y PIRYN XY TIUN 1YY IMRYIT 9119 U

And one can say; that when the seller said to the buyer, ‘pull’, he did not

lend him the animal to acquire the 2°%2 through 2217 7°17 -
— B¥annan navwna NN

but rather he only lent him the 1172 to acquire the 2°%5 only through the
noswn of the animal.

mooin offers an alternate explanation why &"9 did not mention *31p (instead of T1wn):
— 931 %9 910 1IN B99) 11ANA %3P ¥a Mh X s N

Or you may also say; if he would have posed the query in a case where the
seller said acquire the 7272 and the 2°2; and the answer would have

been, he acquires them -
— 0990 NP NNPNAN NIPYWNIAY NI YY 19> 7D KY

We would still not know from this answer that through pulling of the
animal he acquires the 2°%> -

' The query of X"7 was when the 272 was used only as a mode of acquisition for the 2°23; the 721 did not
intend to transfer the 71n72 to the 71p. However, no01n asks what would be the ruling if the 731 intended to
transfer both the 7172 and the 0°% to the buyer; would he acquire the 7n727 n>*wna 0°93?

16 %" may not be sure if he is 75°wn ayun anp but he certain that he is 2%n avyun 7P and a No2an %0 is AP.
' o010 maintains that if the 72 is lent to you, this is sufficient that it should be 31p for you 70 aywn.

' However if he would have said m%yw 293 *3p) mna *3p he would acquire the 2°95 as well 987 PIpa.
According to this answer R"1 maintains that n3%7» 7% is 7299 (as MO0 mentioned in the question).

' According to this 1"X even X" agrees that *3p X2 N9 %n and therefore we cannot assume that by *1p
LYW 0095 *1p1 inna that he would acquire the 0°95 because of 1Xn 1Ip, since the 7nn2 is a n3%n 2. There
is however a (different) reason why X" posed his query by 77Wwn and not by *1p.
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$IUNA 99 SYN 799 °NMaa) 535 98N DYV NNPY
For perhaps he acquired it because of 221 117 and the animal was tied
up™; so therefore X" posed his query in a case of Twn.

SUMMARY

If the 73pn said ©°92 *3P1 19 TWwn he is anp. If the mapn did not say 72 Twn
oYW %95 17, he is not 11 even if he made a n>wn. If the 72°wn on the
772 was made indirectly (through a 73°wn on something else), it is not 71Ip.

THINKING IT OVER

1. The X3 (in 2"2) initially attempted to derive that 12 N2 121 W 1993
mp &7 and therefore in the X9°0 the npY> acquires the *>m1'0. How was the
Xna certain that he did not say m7° °3p1 °92 7w, and the reason he is 7P is
(not because of 7¥17 1°1p, but rather) through 72°wn ]’JP.23

2. According to the second answer of M0 that X7 did not pose his query
by 7mn2 *1p because perhaps we are discussing 731 77 by a *imps anna,
what is the challenge of X217 to X"7 saying 121 °I1p R °X; seemingly N1901N
explained why X" did not mention 12 *172%

0 See “Thinking it over’ # 2.

! By imo all agree that the 712 is not a n2%7» 7x and will by anp the 2°95 for the buyer.
** See footnote # 12.

2 See ymwn (7"%2) 772 "M

** See footnote # 20.

» See 1.

6

TosfosInEnglish.com



